Multiple Choice Questions on Income Tax, 
The income tax system is changed by introducing a marginal tax rate of 10% in incomes between       £ 5,000 and £ 7,000.   (A 10% tax rate was introduced in the UK income tax system in 1999.) 

	Table 1: Calculating Income Tax with Income y = £30,000

	
	formulae
	tax brackets

	Tax bracket
	£ ui  - £ vi
	£ 0 –

£5000
	£ 5,000 – 

£ 7,000
	£ 7,000 – 

£ 20000
	>£ 20, 0000

	Marginal tax rate
	ti
	0
	0.10
	0.20
	0.40

	Income in 

Tax bracket
	           0     if y < ui

 xi =   y – ui if ui ( y ( vi
        vi – ui if vi < y
	5000
	2000
	question 1


	10,000

	Tax on income in tax bracket
	ti xi
	0
	200
	question 2


	4,000

	Total income tax
	A = (i ti xi
	question 3    


Hint: the worked example, Income Tax and the Budget Constraint goes through a very similar example.

1.
What number should replace “question 1” in Table 1?

1.  13000
2. 14000

3.  15000
4.  16000
5. 17000

2.
What number should replace “question 2” in Table 1?

1.  2000

2. 2200

3.  2400
 
4.  2600
5. 2800

3.
What number should replace “question 3” in Table 1?

1.  6800
2. 7000

3.  7200

4.  7400

5. 7600

4.

Assume that prior to the tax change the marginal income tax rate for incomes between £5000 and £7000 was 20%.   What effect does economic theory suggest that the introduction of the 10% tax rate will have on the labour supply of someone earning £6,000 a year?

Hint:  use your answer to questions 1, 2, and 3 to show how the introduction of the 10% marginal tax rate changes the budget constraint illustrated in Figure 1 and think about income and substitution effects.

1.  increase
2.  decrease
3.  impossible to tell
5.

What effect does economic theory suggest that the introduction of the 10% tax rate will have on the labour supply of someone earning £60,000 a year?

Hint:  use your answer to questions 1, 2, and 3 to show how the introduction of the 10% marginal tax rate changes the budget constraint illustrated in Figure 1 and think about income and substitution effects.

1.  increase
2.  decrease
3.  impossible to tell
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